Exploded View & Part List

4. Exploded View & Part List
4-1 HLP5063WX/XAP

Yon can search for the updated part code through ITSELF web site.
URL:http://itself.sec.samsung.co.kr

Loc.No. Code No. Description;Specification Qty SA/SNA
MO0045 BP64-00380A CABINET BACK-TOP;50L3,HIPS,3.5,HB,GRAY 1 SA
T0003 BP96-00532C ASSY COVER P-FRONT;50L3,HIPS,HB,GR503,BK 1 SA
T0053 BP67-00109A SCREEN FRESNEL;50W,1126*646,2T 1 SA
T0054 BP67-00153A SCREEN LENTI;50W,MS,1126*646,2.1T 1 SA
T0066 AA96-20129A ASSY POWER CORD;-,EP2/YES,H/C300,ME301P, 1 SA
T0074 BP59-00048C REMOCON;ATLANTIS, TM76A,47,SMV-5012,EX 1 SA
T0120 BP94-02141H ASSY PCB POWER;HLP46/50/56/61(L3),L62B, 1 1 SA
T0130 BP96-00536A ASSY COVER P-TERMINAL ANT;50L3,HIPS,V0,G 1 SA
T0131 BP96-00568E ASSY COVER P-BACK BOT;L3 ALL,HIPS,V0,GRY 1 SA
T0132 BP94-02065A ASSY PCB MISC-DIGITAL;HLP5063,L62B,BP94- 1 SA
T0158 BP96-00533C ASSY COVER P-MAIN;L3 ALL,HIPS,V0,GR503 1 SA
T0186 BP96-00534D ASSY COVER P-GRILLE;50L3,HIPS HB,GR503,S 1 SA
T0210 BP61-00540A BRACKET-SCREEN TOP;50L3,SECC,T1.0 1 SA
T0245 BP94-02140D ASSY PCB MISC-KEY CONTROL;HLP5063W,L62B, 1 SA
T0260 BP67-00096A MIRROR;MIRROR FRONT 50",GLASS,1100X580X5 1 SA
T0264 BP60-00032L SPACER-MIRROR;50L3,EVA,490,T1.0,28 4 SNA
T0516 BP61-00527A HOLDER-BACK RIGHT;50L3,HIPS HB,GRAY 1 SNA
T0518 BP61-00526A HOLDER-BACK LEFT;50L3,HIPS HB,GRAY 1 SNA
T0563 BP61-00709B BRACKET-CHASSIS ASSY;50L3,SECC,T1.0,NEW 1 SNA
T0852 BP96-00531C ASSY COVER P-MIDDLE;50L3,HIPS,HB,GR503,S 1 SA
T0902 BP96-00932A ASSY BRACKET P-MIRROR;50L3,SECC 1 SNA
T0903 BP61-00528A HOLDER-DUST;50L3,HIPS HB,GRAY 2 SNA
T0928 BP61-00537A BRACKET-MIRROR TOP(T);50L3,SECC,T 1.6 1 SNA
T0951 BP61-00542A BRACKET-SCREEN SIDE;50L3,SECC,T1.0 2 SA
T0952 BP63-00294B COVER DUST-ASSY;L6,HIPS,HB,GRAY 2 SNA

Samsung Electronics 4-1



Exploded View & Part List

4-2 L3 Engine Ass'y

L3 Engine Exploded View List
No. | Loc. No. | Description Code No. Specification Q'ty | SA/SNA
1 T0888 | BP96-00826A ASSY LAMP P L3,LAMP SERVICE,PHILIPS 120W 1 SA
1-1 CCM1 6006-001039 SCREW-MACHINE WSP,PH,+,M4,L.12,ZPC(YEL),S 1 SNA
2 T0703 | BP96-00678B ASSY DMD BOARD P L3 PHILIPS,DMD BOARD,SE 1 SA
241 AA61-01195A SPRING ETC-COIL,DMD B3K,SPRING STEEL 4 SNA
2-2 | CCM1 | 6001-000819 SCREW-MACHINE PWH,+,-M3,L.30,ZPC(YEL),SW 4 SNA
2-3 | M0081 | 6006-000248 SCREW-TAPTITE PWH,+,-,S,M3,L8,ZPC(YEL),S 2 SNA
2-4 | M0081 | 6003-000264 SCREW-TAPTITE PWH,+,B,M3,L6,ZPC(YEL),SWR 1 SNA
3 T0751 | BP96-00690A ASSY BALLAST P L3,SERVICE BALLST 1 SA
3-1 | M0081 | 6003-001023 SCREW-TAPTITE PWH,+,B,M3,L10,ZPC(YEL),SW 2 SNA
4 BP98-00489A | ASSY K/D-COLOR WHEEL L3 ENGINE,SERVICE 1 SNA
5 BP98-00490A | ASSY K/D-OPTIC MODULE L3 ENGINE(AIR),SER 1 SNA
5-1 | M0081 | 6003-000277 SCREW-TAPTITE BH,+B,M3,L12,ZPC(YEL),SWR 5 SNA
6 BP63-00295A COVER DUCT-TOP23 SVP-50L3HR,PC G/F20 1 SNA
6-1 BP63-00296A | COVER DUCT-BOTTOM23 SVP-50L3HR,PC G/F20 1 SNA
6-2 | T0286 | BP31-00010B FAN-DC SVP-50L7XHD,UL94V-0, PBT,Wire Len | 1 SA
6-3 BP73-00012A RUBBER-FAN,LAMP SHP700,NBR,50,LOSS FACTO 2 SNA
6-4 | M0081 | 6003-001023 SCREW-TAPTITE PWH,+,B,M3,L10,ZPC(YEL),SW 3 SNA
6-5 | CCM1 | 6006-001039 SCREW-MACHINE WSP,PH,+,M4,L.12,ZPC(YEL),S 3 SNA
7 BP61-00732A GUIDE-BALLAST 23 SVP-50L3HR,PC G/F 20 1 SNA
7-1 | CCM1 | 6006-001039 SCREW-MACHINE WSP,PH,+,M4,L12,ZPC(YEL),S 3 SNA
8 BP61-00726A | HOUSING-LAMP,BOTTOM 23 SVP-50L3HR,AL D/ 1 SNA
8-1 | M0081 | 6006-000249 SCREW-TAPTITE PWH,+,-,.S,M3,L7,ZPC(YEL),S 3 SNA
9 T0926 | BP91-00612A | ASSY MISC-THERMOSTAT HLP5063W,L62B 1 SNA
9-1 | CCM1 | 6006-001035 SCREW-MACHINE WSP,PH,+,M3,L8,ZPC(YEL),SW 2 SNA
10 BP63-00299A COVER-CW 23 SVP-50L3HR,PC G/F20 1 SNA
10-1 | CCM1 | 6006-001035 SCREW-MACHINE WSP,PH,+,M3,L8,ZPC(YEL),SW 2 SNA
" BP63-00338A | COVER-LENS PROJECTION SVP-50L3,PS,T0.3 1 SNA
11-1 | M0081 | 6003-001023 SCREW-TAPTITE PWH,+,B,M3,L.10,ZPC(YEL),SW 2 SNA
12 BP61-00668A HOLDER-INTERFACE SVP-50L3HR,ABS V0 BLK 1 SNA
12-1 | CCM1 | 6006-001039 SCREW-MACHINE WSP,PH,+,M4,L12,ZPC(YEL),S 3 SNA
12-2 | T0753 | BP94-02149K ASSY PCB S-ACTUATOR DP,BP41-00121A,L62B, 1 SA
12-3 | M0081 | 6003-001023 SCREW-TAPTITE PWH,+,B,M3,L.10,ZPC(YEL),SW 4 SNA
12-4 BP91-00775A | ASSY MISC-DETECTOR S/W HLP5063WX/XAA,L62 1 SNA
12-5 | M0081 | 6003-001023 SCREW-TAPTITE PWH,+,B,M3,L10,ZPC(YEL),SW 1 SNA
13 BP61-00730A BRACKET-BASE 23 SVP-50L3HR,SECC,1.6 1 SNA
14 BP61-00590A HOLDER-BASE DLP L3,PPS G/F30 1 SNA
14-1 | CCM1 | 6006-001039 SCREW-MACHINE WSP,PH,+,M4,L12,ZPC(YEL),S 6 SNA
15 | T0286 | BP31-00011A FAN-DC AD0612LB-D72GL,P.B.T UL94-Vo,Wire | 1 SA
15-1 BP61-00595A BRACKET-FAN DMD DLP L3,SECC,T1.0 1 SNA
15-2 | M0081 | 6006-000250 SCREW-TAPTITE BH,+,WT,B,M3,L.20,ZPC(YEL), 2 SNA
15-3 | M0081 | 6003-000199 SCREW-TAPTITE PWH,+,B,M3,L.14,ZPC(YEL),SW 2 SNA
15-4 BN61-00236A | HOLDER-SPACER,RUBBER B3K,BSBM 2 SNA
15-5 BP73-00040A RUBBER-DAMP FAN HLN507W,CR,30,BLACK,V0 2 SNA

4-2

Samsung Electronics





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /KOR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe7f6e521b5efa76840020005000440046002065876863ff0c5c065305542b66f49ad8768456fe50cf52068fa87387ff0c4ee575284e8e9ad88d2891cf76845370524d6253537030028be5002000500044004600206587686353ef4ee54f7f752800200020004100630072006f00620061007400204e0e002000520065006100640065007200200035002e00300020548c66f49ad87248672c62535f0030028fd94e9b8bbe7f6e89816c425d4c51655b574f533002>
    /CHT <FEFF4f7f752890194e9b8a2d5b9a5efa7acb76840020005000440046002065874ef65305542b8f039ad876845f7150cf89e367905ea6ff0c9069752865bc9ad854c18cea76845370524d521753703002005000440046002065874ef653ef4ee54f7f75280020004100630072006f0062006100740020548c002000520065006100640065007200200035002e0030002053ca66f465b07248672c4f86958b555f300290194e9b8a2d5b9a89816c425d4c51655b57578b3002>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


